R&mH FR25F4ADEFEAO

A0 110,569 (-115)
5 53,667 (-96)

Z 56,902 (-19)
HFEE 43,8815 (+55)

x () AFRETAL
XIERG25F 4R 18RE

BRI AOFR  Frk25F4H1H
BEAOR EFRERSERAD (EREARSIRCEFENIALD) &£E. —HUFEA.

i AR 18R S1% 18R ik 1R | MR | A
JR\ERH] 419 -1 184 -1 235 0 178 0
EH] 217 2 100 0 117 2 77 0
E=H] 132 0 61 1 71 -1 59 1
KEH] 38 1 15 0 23 1 18 0
WNEL] 13 0 4 0 9 0 6 0
==l 86 -2 37 -1 49 -1 26 -1
i) 50 0 7 0 43 0 7 0
FEE L ] 505 -4 271 -2 234 -2 291 -2
FEH] 25 0 14 0 11 0 16 0
1B H] 195 -3 85 0 110 -3 91 -2
] 182 -1 99 0 83 -1 100 0
] 229 2 116 1 113 1 121 1
ZH] 159 1 72 1 87 0 69 1
1= SHT 474 -8 236 -9 238 1 231 -3
SrH] 78 -2 36 -1 42 -1 44 -1
1GAaH] 109 0 51 0 58 0 41 0
FASEH] 163 3 78 1 85 2 92 3
—&T 0 0 0 0 0 0 0 0
NET 109 0 52 0 57 0 53 0
T&ET 140 0 66 0 74 0 56 0
N&ET 83 -3 38 -1 45 -2 37 0
NET 165 0 67 0 98 0 32 0
T&HT 259 1 97 -1 162 2 123 0
1ok ] 362 7 155 2 207 5 185 -1
SiEH] 2,617 13| 1,279 1 1,338 12 1,084 5
RFRE] 3,450 -13] 1,663 -2 1,787 -11f 1,358 2
EEH] 1,594 2 781 2 813 0 578 1
a)=<tiil] 1,814 -9 936 -4 878 -5 794 -1
FERHE] 422 -2 194 -2 228 0 180 -3
FHATHT 3,601 -7 1,797 -15( 1,804 8 1,575 -14
LT 2,399 8 1,138 2| 1,261 6 975 4




VEIRH] 2,023 13 977 7| 1,046 6 640 2
Ll e 4,868 -3 2,393 -4 2,475 1 1,900 3
JFEET R 2,167 4 1,056 3| 1,111 1 866 6
EBZRHE] 9,505 -13| 4,653 1] 4,852 -14( 3,623 5
=2kH] 3,980 16 1,942 9] 2,038 7| 1,512 5
[ EHET 1,132 0 583 -5 549 5 469 4
EREFHIER — 2,610 -16| 1,237 -9 1,373 -7 894 -2
EREFHTERS) 1,842 9 884 3 958 6 659 6
EREFHT PG 7> 593 -1 291 0 302 -1 210 2
Er7KH] 5,657 -10| 2,681 0| 2,976 -10f 1,953 4
g lii) 165 0 159 -1 6 1 156 -1
ERH] 24 -2 13 -1 11 -1 13 -1
ETRE—TH 405 2 214 1 191 1 180 1
ETREIZTH 297 -1 127 0 170 -1 139 0
ETREI=TH -1 0 -1 0 0 0 -1 0
ETREMTH 0 0 0 0 0 0 0 0
ETREATH 237 -2 111 -2 126 0 76 -1
rES 0 0 0 0 0 0 0 0
TEE—TH 412 -2 194 -1 218 -1 185 0
TEEZTH 732 -5 352 -3 380 -2 340 -1
TEE=TH 301 -7 148 -3 153 -4 138 -3
ERE—TH 492 -4 228 -1 264 -3 234 -1
RERE—TH 696 3 320 0 376 3 332 1
EE=TH 414 -13 208 -8 206 -5 214 -5
EMPRET—T B 329 3 140 2 189 1 150 4
Gl = 503 -11 239 -5 264 -6 243 -5
JtFEILE—TH 182 0 83 0 99 0 89 0
JtFEILETZTH 408 2 188 4 220 -2 181 2
AR —TH 284 -3 150 -2 134 -1 151 0
AR —TH 451 -11 230 -10 221 -1 245 -3
FEH—TH 132 2 62 1 70 1 57 0
FZHZTH 330 -3 153 -1 177 -2 159 1
[REEIH 313 3 146 2 167 1 218 2
wFEE—TH 120 1 60 -1 60 2 61 -1
RFEE =T H 266 -3 113 -1 153 -2 97 -2
RAEI—TH 460 0 212 -1 248 1 177 2
FREIZTH 384 1 179 2 205 -1 159 -1
RREI=TH 517 0 244 -1 273 1 229 2
FRAFETI T H 403 -3 178 -2 225 -1 162 -2
FRETRTH 600 -1 260 -1 340 0 223 0
FuRE—TH 218 -1 122 -1 96 0 106 -1
FUEEI”TH 366 -2 209 -2 157 0 207 -1
HIIEEE—TH 458 0 222 3 236 -3 213 3




HIGEAI”TH 331 0 154 -1 177 1 130 0
BRE—TH 154 2 77 1 77 1 79 1
BRI "TH 630 -3 296 -3 334 0 285 -1
BRE=TH 536 2 275 1 261 1 231 2
BEEMTH 250 2 111 0 139 2 105 1
EEEATH 711 9 332 2 379 7 348 1
Kt —TH 300 4 148 2 152 2 132 2
XK —TH 229 -1 113 -2 116 1 91 -1
AFH—TH 139 0 68 1 71 -1 69 0
AFHZTH 10 2 5 1 5 1 5 1
AFH=TH 185 3 91 1 94 2 85 0
TEEIA—TH 676 5 322 2 354 3 245 2
TEsETFE T H 327 -3 150 0 177 -3 129 -1
TEEAR=TH 399 -4 212 -2 187 -2 148 -3
TEEIFEM T B 498 -9 230 -4 268 -5 206 1
TEEAATH 639 1 311 0 328 1 262 2
TEEIPRNT B 361 -2 188 0 173 -2 167 -1
TEsETFEE T H 663 2 322 1 341 1 307 2
TEEIFEA\TH 698 7 333 2 365 5 294 3
TERER—TH 1,467 -18 701 -7 766 -11 614 -3
THREERTTH 410 0 213 2 197 -2 167 -1
TEREIR=TH 685 12 327 7 358 5 281 5
TEREIERIUT B 1,139 -15 550 -11 589 -4 457 -8
TEHREERATH 1,011 7 528 0 483 7 519 2
T2REERANT B 564 -2 283 -3 281 1 310 -3
TEZRERETH 1,488 -2 764 5 724 -7 636 5
TARETERNTH 1,218 -30 555 -14 663 -16 569 -9
TEREIRAT B 426 0 208 -1 218 1 144 1
TEEIE—TH 91 0 48 0 43 0 73 -1
TEEIEZTH 100 8 67 5 33 3 77 7
4N st 81,699 -96| 39,671 -71 42,028 -25( 33,521 20
AEH]E 111 -1 48 0 63 -1 70 0
AEHTA 107 -1 53 0 54 -1 60 0
AEHERE 12 0 4 0 8 0 9 0
AREHT/NBR 112 0 51 0 61 0 51 0
AEHKH 11 0 6 0 5 0 7 0
AEHTEH 64 0 26 0 38 0 26 0
AEH R 10 0 5 0 5 0 7 0
AEHE /R 8 0 2 0 6 0 4 0
45 12 0 4 0 8 0 9 0
AEMIXEEST 447 -2 IR 0 248 =2 243 0
IN= 1 AVES] 35 0 18 0 17 0 22 0
IN= 1RO 38 0 17 0 21 0 27 0




IN= I E0) 38 -2 17 -1 21 -1 23 1
[1: SHTER S 32 -1 13 -1 19 0 20 0
[LERTEAR 62 0 31 0 31 0 33 0
[LSHEHH 25 0 14 0 11 0 16 0
NG9 27 -1 17 -1 10 0 18 0
[LEE/NFS 38 -6 17 -3 21 -3 16 -5
FEH] 37 0 22 0 15 0 24 0
[ S EEET 332 -10 166 -6 166 -4 199 -4
SUEERSET 779 -12 365 -6 414 -6 442 -4
TR ET [ A _E 1,378 -3 666 -2 712 -1 485 -2
T2 X T ] EH 722 2 314 1 408 1 226 3
&R R 1,258 4 604 -1 654 5 418 3
e 2K T iz E P 1,047 1 517 0 530 1 369 2
e 1,371 0 671 1 700 -1 456 2
e 1,157 -4 546 -2 611 -2 421 1
TN ] = AR 3,954 13| 1,923 5( 2,031 8| 1,422 8
TR X ERET 10,887 13| 5,241 2| 5,646 11 3,797 17
ERILIET_ESREESF 2,111 -4 996 -4 1,115 0 695 1
ERILIE] RSB 2,639 -8 1,318 -3 1,321 -5 916 -1
ERILIETER/)N I 2,049 2| 1,023 3] 1,026 -1 786 6
BRI BT PaR T 1,530 1 759 1 771 0 517 1
BRI LI BT iF 1,140 0 563 0 577 0 409 5
ERLLIET) 1R 2,289 -19] 1,126 -13] 1,163 -6 815 -4
ERILIE] R T 5,446 8| 2,605 -5 2,841 13| 1,983 14
BRI [X &R 5T 17,204 -20] 8,390 -21| 8,814 1 6,121 22
a 5t 110,569 -115] 53,667 -96| 56,902 -19| 43,881 55




